2RABRDEEHD

fREs LR

[1]@8 1) 2=3+J/14 (2 z=
4 z=2+2/2 (5 z=
1) z?—6z=5
MHIIZ6 DEDD2FEEMAD L
z2?—6z+3°=5+3"
(x—3)?%=14
z—3=114
£-T r=3+/14
2 z’4+6zx+2=0
P4+ 6r=—2
MIIZ6 DEDD2FEEMAD L
z?4+6z+3"=-2+43"
(z+3)?%=7
r+3=+J7
£-T r=-3+7
3) z2—2x—5=0
z2—2r=5
MIIZ2D¥ESD2FEEMAZ L
ri—2z+12=5+1%
(z—17%=6
r—1=+./6
£oT =146
4) z’—4r—4=0
z2—dr=4
M4 DEZTD2FEEMAZ L
ri—dx+22=4+2°
(x—2)?%2=8
z—2=12/2
£-oT r=242/2
5) z*4+8x+4=0

)

224 8zx=—4
M8 DELD2FEMAD L
%+ 8z +4%=—4+4°
(z+4)72=12
z+4=42/3

EoT r=—442/3

1) z?+22+1=5
(z+1)*=5
r+1=+.5
koT z=—-1445
(2) 22— 4z =6

W24 D¥ERD2FTEMZD L
ri—4r+2°=642°
(z—2)2=10
z—2=410
z=2+10

r=—1+/5 (2 2=2+10



